2 T JA=eI0T =
) et a a9 ferrar =l gt

%, 9T TET §e : THYT %, 3,00,000/~ |Y4. EH-EM/TH . THYT %, %,40,000/-
(3T T=ATETE) Bles QUi Tmmdi

2. Wmﬂéﬁ : THU %, 40,000/~ |§, UH-BH,/IH/ ; THUT &, 4,000/~
(K, ) gled quf fiehret

3. S 3T : U %, 940,000/~ [, Fafis 9oy : THUT %, ,40,000/-

¥, BT FY AT ; THU . 000/~

=) Terenedi 9 et Ir=t 31 9 T2 € Sl (UTeTeh 91 ATe0H ) TS S oA
OTs SAHAE. HE ° T2 ATeATErs! —

. FETl g, : TV %.\94,000 /- 3. i 37T . THUT . 40,000/ -

2. il AR I, : TRV Bsk,000/~ Y. AHfiR G : T 5, 94,000/ -
(R 1)

% ;-

) HATEHET I HROTH WA 309 o SaATET=TE] G9 I1 aTsl A1 ATS-qd Sesvdrd JTeiedl
I AT HIVCATE! TaEgTET o1y fohar gfagdt a1 Jom e,
?) Tammeathi waw ffvam Seumg wer e @iny BEa.



